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AHE-M 3 P.T.O.

001. Lke[uLkk{ktÚke fÞk / fÞwt rðÄkLk / rðÄkLkku økwshkík{kt çkkiØðkËLkwt yÂMíkíð Ëþkoðu Au ?

1. ðzkuËhk Mktøkúnk÷Þ{kt Mkr[ºk ÷½wr[ºk nMík«ík

2. yzk÷sLke ðkð{kt rþÕÃkku

3. swLkkøkZLkk yþkufLkk Mk{ÞLkk rþ÷k÷u¾

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 (B) Võík 1 yLku 3

(C) Võík 1 yLku 2 (D) Võík 3

002. «k[eLk ¼khíkeÞ «ík MktË¼uo Lke[uLkk / Lke[uLkwt Ãkife fÞk / fÞwt rðÄkLkku / rðÄkLk ¾kuxwt / ¾kuxkt Au ?

1. rMkLÄw MktMf]ríkLke r÷rÃk {wÿk WÃkh òuðk {¤u Au.

2. yþkufLkk Mk{ÞLke yk¿kk WÃkh çkúkñýe r÷rÃk òuðk {¤u Au.

3. ¾hkuceyu «k[eLk r÷rÃk LkÚke.

4. ËuðLkkøkhe Ërûký ¼khík{kt «[r÷ík níke.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 yLku 2 (B) Võík 3 yLku 4

(C) Võík 2 yLku 4 (D) 1, 2, 3 yLku 4

003. Lke[uLkk{ktÚke fÞwt økwshkíkLkwt ÷kufLk]íÞ LkÚke ?

(A) Ä{k÷ (B) ËktrzÞk

(C) ½wB{h (D) xeÃÃkýe

004. økktÄeSLke ykí{fÚkk ‘MkíÞLkk «Þkuøk’Lkku yLkwðkË ytøkúuS{kt fkuýu fÞkuo Au ?

(A) Íðuh[tË {u½kýe (B) {nkËuð ËuMkkE

(C) ÃkLLkk÷k÷ Ãkxu÷ (D) WÃkhkuõík{ktÚke fkuE Lknª

005. {wtçkE Mk{k[kh MkkiÚke sqLkw Mkíkík «rMkrØ Úkíkw ËirLkf Au. íkuLke þYykík 1822 {kt ............ yu ............ ¼k»kk{kt

fhe níke.

(A) VËoLkS {ÍoçkLk, økwshkíke (B) þuX [uxe[tË, ÃkkhMke

(C) çknuhk{S MkkÞhMk, rnLËe (D) fkðMkS ÷k÷, {hkXe

006. Lke[uLkk{ktÚke økwshkíkLkk fÞk Mktøkúnk÷Þ{kt hkò hrð ð{koLkk r[ºkku òuðk {¤u Au.

(A) Víkun®Mkn Mktøkúnk÷Þ (B) fu÷efku Mktøkúnk÷Þ

(C) fåA Mktøkúnk÷Þ (D) yu÷. ze. Mktøkúnk÷Þ

007. MkqÞoð{oLk rîríkÞLkk Mk{Þ{kt Lke[uLkk Ãkife fÞk {trËhLkwt «khtr¼f Lkfþe yLku çkktÄfk{ ÚkÞw níkwt ?

(A) {rhÞB{Lk {trËh (B) ytøkfkuh ðkx {trËh

(C) çkkíkw økwVk {trËh (D) fk{kÏÞk {trËh
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AHE-M 4 [Contd.

008. nhÃÃkLk {wÿk MktË¼uo Lke[uLkwt / Lke[uLkk fÞwt / fÞkt Mkk[wt / Mkk[kt Au ?

1. {wÿk{kt ðÃkhkÞu÷ r÷rÃk «kf]ík sýkÞ Au.

2. r÷rÃk s{ýuÚke zkçku ÷¾kÞu÷e Au.

3. {wÿkLkku WÃkÞkuøk ykæÞkÂí{f nuíkw {kxu íkkðes íkhefu Úkíkku níkku.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 yLku 2 (B) Võík 2 yLku 3

(C) Võík 2 (D) Võík 1 yLku 3

009. {]íÞw ÃkAe {Lkw»Þ SðLkwt þwt ÚkkÞ Au, yu ............ r[ºkf÷kLke rð»kÞ ðMíkw Au.

(A) Ãkkxfh r[ºkf÷k (B) ðkh÷e r[ºkf÷k

(C) {ÄwçkLke r[ºkf÷k (D) Úkktfk r[ºkf÷k

010. Lke[uLkk Ãkife fÞku Lkð hMk{ktLkku yuf LkÚke ?

(A) nkMÞ (B) hkiÿ

(C) ðeh (D) ykLktË

011. ¼khík{kt çkku÷kíke {kuxk ¼køkLke ¼k»kkyku ............ ¼k»kk ÃkrhðkhLke Au.

(A) ÿrðz Mk{qn (B) rnLË – ykÞo Mk{qn

(C) [eLke – ríkçkuxeÞLk Mk{qn (D) rnLË – ykpÂMxf Mk{qn

012. Lke[uLke Ãkife fE íkíð¿kkLkLke òuze ¼khíkeÞ ËþoLk{kt Mk{krðü LkÚke ?

(A) {e{ktMkk – ðuËkLík (B) LÞkÞ – ðiþir»kf

(C) ÷kufkÞík – fkÃkkr÷f (D) MkktÏÞ – Þkuøk

013. Lke[uLkku Ãkife fÞku ¼khíkeÞ «Ëuþ {uLøkúkuð ðLk, MkËkçknkh ðLk yLku ÃkkLk¾h ðLkLkwt r{©ý Au ?

(A) W¥kh íkxðíkeo yktÄú«Ëuþ (B) Ërûký-Ãkrù{ çktøkk¤

(C) Ërûký Mkkihk»xÙ (D) ytËk{kLk yLku rLkfkuçkkh xkÃkw

014. “yk çktËh ËuþLkk Ãkrù{e «Ëuþ{kt ÂMÚkík Au. íku {wtçkE çktËhLkk ðuÃkkhLkk ykÞíkLkLku Mkh¤ çkLkkððk {kxu çkktÄðk{kt ykÔÞwt
níkwt. íku yuf ßðkh çktËhøkkn Au.”

WÃkhkuõík ðýoLk Lke[uLkk Ãkife fÞk MÚk¤Lkwt Au ?

(A) {whøkktð (B) fku[e

(C) y÷tøk (D) ftz÷k

015. ¼khíkLkk yuf hkßÞLke Lke[u Ëþkoðu÷ ÷kûkrýfíkk Au.

1. íkuLkku W¥kheÞ ¼køk þw»f yLku yÄo þw»f Au.

2. íkuLkku furLÿÞ ¼køk fÃkkMk WíÃkLLk fhu Au.

3. ¾kã / yLLk Ãkkf fhíkk hkufz ÃkkfLkwt «kÄkLÞ ðÄw Au.

Lke[uLkk Ãkife fÞwt hkßÞ WÃkhkuõík Ëþkoðu÷ çkÄes ÷kûkrýfíkkyku Ähkðu Au.

(A) yktÄú«Ëuþ (B) økwshkík

(C) fýkoxf (D) íkr{÷Lkkzw

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AHE-M 5 P.T.O.

016. TAPI (íkwfo{urLkMíkkLk – yV½krLkMíkkLk – ÃkkrfMíkkLk – ¼khík) ÃkkEÃk÷kELk økku÷fkÞLkeþ økuMk rVÕzÚke þY ÚkE
VkrÍÕfk ¼khík{kt Ãkqýo ÚkkÞ Au. VkrÍÕfk õÞkt ykðu÷w Au ?

(A) Ãktòçk (B) nrhÞkýk

(C) hksMÚkkLk (D) sB{w - f~{eh

017. Lke[uLke Ãkðoík {k¤kykuLku þi÷ Mk{qn rLk{koýLke árüyu MkkiÚke LkðkÚke «k[eLk yu{ Mkk[k ¢{{kt økkuXðku.

(A) rn{k÷Þ, ®ðæÞ, Ãkrù{ ½kx, zu¬Lk ÃkXkh (B) zu¬Lk ÃkXkh, Ãkrù{ ½kx, ®ðæÞ, rn{k÷Þ

(C) rn{k÷Þ, Ãkrù{ ½kx, ®ðæÞ, zu¬Lk ÃkXkh (D) ®ðæÞ, rn{k÷Þ, zu¬Lk ÃkXkh, Ãkrù{ ½kx

018. fhkðk (Karewas) rn{Lk {q¤Lkk Ãkèk Au, íku ............ ¾eý{kt òuðk {¤u Au.

(A) ríkMxk ¾eý (B) hrð ¾eý

(C) Íu÷{ ¾eý (D) y÷¾LktËk ¾eý

019. y{h ftxfLke Ãknkze Lke[uLke çku LkËeykuLkku †kuík Au, su çku swËe rËþkyku (Ãkrù{ yLku Ãkqðo){kt ðnu Au. íku çku LkËeyku
fE Au ?

(A) Lk{oËk yLku íkkÃíke (B) Lk{oËk yLku {nkLktËe

(C) íkkÃíke yLku çkuíkðk (D) íkkÃíke yLku MkkuLk

020. Akuxk LkkøkÃkqh MktË¼uo Lke[uLkw / Lke[uLkk fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. íku Ãkqðkuofík hsðkze hkßÞ Au.

2. íku W¥kh rçknkhLkku ÃkXkh rðMíkkh Au. su{kt {wÏÞíðu ykrËðkMkeyku ðMkðkx fhu Au.

3. íkuLku nk÷{kt Íkh¾tz, Ãkrù{ çktøkk¤, ykurhMMkk yLku {æÞ«Ëuþ Mkt÷øLk ykrËðkMke rðMíkkh íkhefu yku¤¾ðk{kt ykðu Au.

(A) {kºk 1 yLku 3 (B) {kºk 3

(C) {kºk 2 (D) 1, 2 yLku 3

021. Lke[uLkk{ktÚke fÞwt rðÄkLk ¾kuxwt Au ?

(A) îefÕÃk ¼khík ykuMxÙur÷ÞkLkku y÷øk ¼køk Au.

(B) ykr£fk yLku ÷urxLk y{urhfk økkUzðkLkk ÷uLz ¼køk Au.

(C) MkuLkkuÍkuEf Þwøk{kt økkUzðkLkk ÷uLzLkku rðåAuË þY ÚkÞku.

(D) {uMkkuÍkuEf Þwøk{kt økkUzðkLkk ÷uLzLkku rðåAuË þY ÚkÞku.

022. økwshkík MktË¼uo Lke[uLkk rðÄkLkku swyku.

1. Mkkihk»xÙ, îefÕÃk økwshkík Mk{wÿLkk ÃkkýeÚke ºkýu çkkswykuÚke ½uhkÞu÷wt Au.

2. økwshkíkLkk W¥khÃkqðeoÞ ¼køk{kt fåALkku rðMíkkh íkuLkk ¾Lkeòu{kt Mk{]Ø Au su{fu çkkuõMkkEx, SÃMk{, yuøkux, [qLkkLkk
ÃkíÚkh ðøkuhu.

3. økwshkík{kt støk÷{kt 19.66 ÷k¾ nuõxh s{eLk{kt rðMíkhu÷wt Au.

4. økwshkíkLke ykçkkunðk Ërûkýe SÕ÷kyku{kt Mkqfe Au yLku W¥khLkk «Ëuþku{kt ¼usðk¤e Au.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku yLku WÃkhkuõík fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au.

(A) Võík 1 yLku 2 (B) Võík 2 yLku 4

(C) Võík 1, 2 yLku 4 (D) Võík 1, 2 yLku 3
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AHE-M 6 [Contd.

023. Lke[uLkk Ãkife fÞk {kÃkËtz yLkwMkqr[ík ykrËòrík íkhefu Mk{wËkÞLkk MÃküefhý {kxu Mkk{kLÞ heíku yÃkLkkððk{kt ykðu Au ?

1. ykrË{ ÷ûkýkuLkk Mktfuík

2. rðrþü MktMf]rík

3. ykuAe ðMíke yLku ô[ku {]íÞwËh

4. {kuxk Mk{wËkÞ MkkÚku MktÃkfoLkku Mktfku[

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1, 2 yLku 3 (B) Võík 3 yLku 4

(C) Võík 2, 3 yLku 4 (D) Võík 1, 2 yLku 4

024. Lke[uLkku fÞku økún ÃkqðoÚke Ãkrù{{kt íkuLke Ähe Ãkh Vhu Au ?

(A) Ãk]Úðe (B) [tÿ

(C) þw¢ (D) çkwÄ

025. Lke[uLkk / Lke[uLkwt fÞk / fÞwt rðÄkLkku / rðÄkLk Mkk[kt / Mkk[wt Au ?

1. fku÷MkkLkku sÚÚkku økkUzðkLkku Ãkèe WÃkh {¤e ykðu Au.

2. fkuzh{ {kt rðÃkw÷ «{ký{kt y¼úf (MICA)Lkku sÚÚkku {¤e ykðu Au.

3. Äkhðkz ÃkuxÙkur÷Þ{ {kxu «ÏÞkík Au.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 yLku 2 (B) Võík 2

(C) Võík 2 yLku 3 (D) Võík 1, 2 yLku 3

026. ¼khíkeÞ hk»xÙeÞ fkUøkúuMkLke «Úk{ çkuXf {wtçkE{kt ............ Lke yæÞûkíkk{kt ÞkuòE níke.

(A) yu. yku. Ìkw{ (B) MkwhuLÿLkkÚk çkuLkhS

(C) ÔÞku{uþ[tÿ çkuLkhS (D) WÃkhkuõík{ktÚke fkuE Lknª

027. ¼khík çknkh Mðíktºk ¼khíkeÞ MkuLkk MÚkkÃkLkkh «Úk{ ÔÞÂõík ............ níkk.

(A) yu{. yuLk. hkuÞ (B) ÷k÷k nhËÞk÷

(C) hkMk rçknkhe çkkuÍ (D) Mkw¼k»k[tÿ çkkuÍ

028. Lke[uLkk{ktÚke fÞku rþ÷k÷u¾ çkwØLkk sL{Lkku MktË¼o Ëþkoðu Au ?

(A) ÷wÂBçkLke (B) fk÷Mke

(C) çkihkík (D) {kMkfe

029. Lke[uLkk fÞk yk¢{ýLku fkhýu ¼khíkLkku MktÃkfo ÃkhŠþÞLk WÃkMkkøkh, {æÞ yurþÞk yLku ¼q{æÞ MkkÚku MÚkÃkkÞku ?

(A) yu÷uõÍkLzh (B) nwý

(C) íkwfo (D) WÃkhkuõík{ktÚke fkuE Lknª
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AHE-M 7 P.T.O.

030. ¼khík MkhfkhLkk 1935 yrÄrLkÞ{ «{kýu þu»k Mk¥kk ............ Lku ykÃkðk{kt ykðe.

(A) Mk{ðkÞ Mkt½ rðÄkLkMk¼k (Fedral legislature)

(B) «kLík rðÄkLkMk¼k (Provincial Legislature)

(C) {nkhkßÞÃkk÷ (Governor General)

(D) «kLík hkßÞÃkk÷ (Provincial Governor)

031. ¼ðkLk®MknS rîríkÞLkk MktË¼uo Lke[uLkk{ktÚke fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. íku{ýu Mktrøkík{k÷kLkk [kh ¼køk ÷ÏÞk / MktÃkkrËík fÞko Au.

2. íku{ýu suLke MÚkkÃkLkk fhe íku yk¾hu Mkkihk»xÙ çkUf çkLke.

3. íku{ýu økúef çkkzo {nkfkÔÞkuLkku yLkwðkË økwshkíke{kt fÞkuo.

4. íku{ýu ¼kðLkøkh{kt þk{¤ËkMk ykxTMko fku÷usLke MÚkkÃkLkk fhe.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) 1 yLku 4 Mkk[k (B) 1, 2 yLku 4 Mkk[k

(C) 1, 2 yLku 3 Mkk[k (D) 1, 2, 3 yLku 4 Mkk[k

032. ÷kuzo ðu÷uM÷u îkhk yÃkLkkðu÷ MknkÞf òuzký (Subsidary Alliance) MktË¼uo Lke[uLkk Ãkife fÞwt rðÄkLk ¾kuxwt Au ?

(A) òuzký ðk¤k ¼khíkeÞ hkßÞLkk þkMkfLku íkuLkk «ËuþLkk ÔÞðMÚkkÃkLk {kxu rçkúrxþ Ë¤Lke MÚkkÞe ÔÞðMÚkk MðefkhðkLke

yLku íkuLkku ¾[o WXkððkLke Vhs Ãkze níke.

(B) yuf rçkúrxþ {q¤Lkk ÔÞÂõíkLku þkMkfLkk Ëhçkkh{kt fkÞ{e ÃkË ykÃkðk{kt ykðu÷ níkwt.

(C) rçkúrxþ çkkÌk yk¢{ýkuÚke þkMkLkLku hûký ykÃkíkw níkwt.

(D) òu rçkúrxþ hûký nuX¤Lkk hkßÞLkk þkMkfLku ÃkkuíkkLkk ðtþs Lk nkuÞ yLku íku þkMkf òu {]íÞw Ãkk{u íkku íku hkßÞ rçkúrxþ
þkMkLk nuX¤ ykðe òÞ.

033. Lke[uLkk Ãkife fkuýu økwshkíkLke 1857Lke ½xLkk{kt Mkr¢Þ heíku ¼køk ÷eÄku níkku ?

1. {w¾e økhçkkËkMk 2. fkLkËkMk [khý

3. òuÄk yLku {w÷w {kýuf 4. Mkqhs{÷

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 yLku 3 (B) Võík 2 yLku 4

(C) Võík 1, 3 yLku 4 (D) 1, 2, 3 yLku 4

034. ykuÃkhuþLk Ãkku÷ku Lkk{ ............ hsðkze hkßÞ Mkk{u Ãkku÷eMk fkÞoðkneLku ykÃkðk{kt ykÔÞwt níkwt.

(A) niËhkçkkË (B) sqLkkøkZ

(C) ºkðLkfkuh (D) f~{eh
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AHE-M 8 [Contd.

035. hkßÞ ÃkwLk:MktøkXLk yrÄrLkÞ{ (State Reorganization Act, Nov 1956) MktË¼uo Lke[uLkwt Ãkife fÞwt Mkk[w LkÚke ?

(A) fåA yLku Mkkihk»xÙLku {wtçkE hkßÞ{kt rð÷eLkefhý fhe íkuLkw rðMíkhý fÞwO.

(B) íkuýu {ÿkMkLkk fLLkz ¼k»ke rðMíkkhLku niËhkçkkË MkkÚku òuzâk.

(C) niËhkçkkËLkk {hkXe ¼k»ke rðMíkkhLku Ãký {wtçkE hkßÞ{kt rð÷eLkefhý fhðk{kt ykÔÞwt.

(D) íkuýu niËhkçkkËLkk íku÷tøkýk rðMíkkhLkwt yktÄú{k MÚkkLkktíkhý fÞwO.

036. Lke[uLke fE òuze / òuzeyku ÞkuøÞ heíku òuzkÞu÷e Au ?

1. õ÷u{uLx yux÷e – furçkLkux r{þLk Ã÷kLk

2. ÷kpzo r÷Lkr÷Úkøkku – ykpøkMx ykuVh

3. ÷kpzo ðuðu÷ – çkúufzkWLk Ã÷kLk

4. ÷kpzo {kWLxçkuxLk – Ã÷kLk çkk÷fLk

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 yLku 2 (B) Võík 2 yLku 3

(C) Võík 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

037. økwshkík{kt 5 ð»koLke Lke[u {]íÞw Ëh -

(A) †e fhíkk ÃkwY»kku{kt ðÄkhu Au. (B) ÃkwY»k fhíkk †e{kt ðÄkhu Au.

(C) †e yLku ÃkwY»k{kt Mk{kLk Au. (D) WÃkhkuõík{ktÚke fkuE Lknª

038. ðkõÞktþ ‘Íehku zeVuõx, Íehku EVuõx’ Lke[uLke Ãkife fE Íwtçkuþ MkkÚku Mktf¤kÞu÷ Au ?

(A) yx÷ ELkkuðuþLk r{þLk (B) Mxkxo yÃk EÂLzÞk

(C) MxuLz yÃk EÂLzÞk (D) {uf ELk EÂLzÞk

039. f]r»k ðMíke Ãkºkf 2010-11 {wsçk †eykuLke {kr÷feLkk ykuÃkhuþLk÷ nku®ÕzøMkLke (r¢Þkþe÷ ¾kíkkLke) fux÷e
xfkðkhe Au ?

(A) 6% Úke ykuAe (B) 6 - 12% ðå[u

(C) 12 - 18% ðå[u (D) 18 - 21% ðå[u

040. ËuþLkk LkkøkrhfLke {kÚkkËeX ykðfLke økýíkhe îkhk fw÷ hk»xÙeÞ ykðfLku rð¼kSík fheLku økýíkhe fhðk{kt ykðu Au.

(A) fw÷ fk{økkh ðøko sLkMktÏÞk (B) f]r»k yLku Wãkuøk{kt fkÞohík fw÷ sLkMktÏÞk

(C) ËuþLke fw÷ sLkMktÏÞk (D) ËuþLke fw÷ sLkMktÏÞk - 5 ð»koÚke Lke[uLkk çkk¤fku

041. Lke[uLkk / Lke[uLkwt Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. s{eLkËkhe íktºk ÔÞðMÚkk{kt ¾uzqíkku s{eLk {nuMkw÷ MkeÄku hkßÞLku [qfðe Ëuíkk níkk.

2. nk÷{kt f]r»k ûkuºk{ktÚke ykðfðuhkLke ykðf Lkrnðík suðe Au.

3. fku{ŠþÞ÷ çkUfku þqLÞ xfk ÔÞksu f]r»k {kxu rÄhký ykÃku Au.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 yLku 2 (B) Võík 2

(C) Võík 2 yLku 3 (D) 1, 2 yLku 3
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042. Lke[uLkk{ktÚke fÞwt rðÄkLk Mkk[wt Au ?

(A) ¼khík{kt økwshkíkLke ðMíke ÷øk¼øk 5% Au, Ãkhtíkw ¼khíkeÞ hk»xÙeÞ GDP {kt íkuLkwt ÞkuøkËkLk 3% Úke ykuAwt Au.

(B) ¼khík{kt økwshkíkLke ðMíke ÷øk¼øk 5% Au, yLku íkuLkwt ¼khíkeÞ hk»xÙeÞ GDP {kt íkuLkwt ÞkuøkËkLk 7.5% Au.

(C) ¼khík{kt økwshkíkLke ðMíke ÷øk¼øk 5% Au, yLku íkuLkwt ¼khíkeÞ hk»xÙeÞ GDP {kt íkuLkwt ÞkuøkËkLk ÷øk¼øk 10% Au.

(D) ¼khík{kt økwshkíkLke ðMíke yLku ¼khíkeÞ hk»xÙeÞ GDP {kt íkuLkwt ÞkuøkËkLk çkLLku ÷øk¼øk 5% Lke ykswçkksw Au.

043. MkhfkhLkk ík{k{ ÷uýk su ykŠÚkf sðkçkËkhe Mksuo Au yÚkðk LkkýkfeÞ MktÃkr¥k{kt ½xkzku fhu Au, íkuLku ÞkuøÞ heíku
þwt fnuðkÞ Au ?

(A) {qzeøkík ykðf (Capital Receipts) (B) {nuMkq÷ ykðf (Revenue Receipts)

(C) rçkLk fh ykðf (Non-tax Receipts) (D) [k÷w ykðf (Current Receipts)

044. ‘ykuÃkhuþLk õ÷eLk {Lke’Lke þYykík -

(A) sqLke yLku {÷eLk YrÃkÞk / Lkkýkt Ëqh fhðk yLku þwØ [÷ýLkk r¢ÞkLkðÞLk {kxu ÚkE níke.

(B) økuhfkÞËuMkh LkkýkLku sÃík fhe íkuLku þuh {kfuox{kt hkufðk {kxu ÚkE níke.

(C) þuh {kfuox{kt fkÞËuMkh hkufkýLku «kuíMkkrník fhðk {kxu ÚkE níke.

(D) økuhfkÞËuMkh LkkýktLku [kuÃkzu [Zkððk {kxu ÚkE níke.

045. ............... çkuhkusøkkheyu fux÷ktf fk{Ëkhku, Lkkufhe çkË÷íke ðu¤kyu yMÚkkÞe fk{[÷kW Äkuhýu hkusøkkhe{kt nkuíkk

LkÚke íkuLkk Ãkrhýk{ YÃku WËT¼ðu Au.

(A) [r¢Þ (Cyclical) (B) «ríkhkuÄkí{f (Frictional)

(C) {kiMk{e (Seasonal) (D) MðiÂåAf (Voluntary)

046. 2011{kt hkufz Mkt¢{ý ÞkusLkk îkhk ònuh rðíkhý ÔÞðMÚkkLkk nMíkktíkhý ¼÷k{ý fhLkkh Mkr{ríkLkk yæÞûk fkuý níkk ?

(A) yh®ðË ÃkýøkrhÞk (B) Mke. htøkhksLk

(C) hkSð fw{kh (D) yu{. yuMk. yn÷wðkr÷Þk

047. ÉýÃkºk (rzçkuL[Mko) MktË¼o Lke[uLkw / Lke[uLkk fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. ÉýÃkºk (rzçkuL[Mko) ÷ktçkk økk¤kLkwt LkkýkfeÞ MkkÄLk Au su hsq / òhe fhLkkh «íÞ ËuðkLke sðkçkËkhe Mðefkhu Au.

2. ðxkW ÉýÃkºk (fLðŠxçk÷ rzçkuL[Mko)Lke íkw÷Lkk{kt rçkLk ðxkW ÉýÃkºk (LkkuLk-fLðŠxçk÷ rzçkuL[Mko) Mkk{kLÞ heíku
ð¤íkhLkk Ÿ[k Ëhu ykÃkðk{kt ykðu Au.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 (B) Võík 2

(C) Võík 1 yLku 2 (D) 1 yLku 2 {ktÚke fkuE Lknª

048. ©e Mkwr{ík çkkuÍ ÃkuLk÷ Lke[uLkk{ktÚke fkuLke MkkÚku Mktf¤kÞu÷e Au ?

(A) rzrsx÷ yÚkoíktºk (Digital Economy)

(B) LkkýkfeÞ yufºkefhý (Fiscal Consolidation)

(C) Mkk{kSf ykŠÚkf òrík sLkøkýLkk (Socia-Economic Caste Census)

(D) fk¤w ÄLk (Black Economy)
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049. hkufx Lke[uLkk Ãkife fÞk rMkØktík WÃkh fkÞo fhu Au ?

(A) ÿÔÞ{kLk Mkthûký (Conservation of Mass)

(B) Qòo Mkthûký (Conservation of Energy)

(C) hu¾eÞ Mktðuøk Mkthûký (Conservation of Linear Momentum)

(D) fkuýeÞ Mktðuøk Mkthûký (Conservation of Angular Momentum)

050. fBÃÞwxhkuLkk MktË¼uo fqfeÍLke (Cookies) ¼qr{fk þwt nkuÞ Au ?

1. {krníke ò¤ðe hk¾ðe 2. «kuøkúk{ [÷kððku 3. ðkÞhMk ÃknkU[kzðk

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 (B) Võík 1 yLku 2

(C) Võík 2 yLku 3 (D) 1, 2 yLku 3

051. “SðLk rçkLËe – SðLk çk[kðLkkh rçkLËw” yu Lke[uLkk{ktÚke fE Ãkku»kf QýÃk Ëqh fhðk {kxu Au ?

(A) ykÞkurzLk (Iodine) (B) ykÞLko (Iorn)

(C) fuÂÕþÞ{ (Calcium) (D) ®Íf / sMkík (Zinc)

052. Lke[uLkk Ãkife fÞku Sð Mk{qn ¼khík{kt rð÷wÃík Úkíke òrík{kt ykðu Au ?

(A) Ãkûkeyku (B) MkrhMk]Ãk

(C) MkMíkLk «kýeyku (D) {kA÷eyku

053. Äw{úÃkkLk fhLkkhk fk¤¢{u ............ Lke yMkhkuÚke ÃkezkÞ Au.

(A) fkçkoLk zkÞkuõMkkEz (Carbon dioxide) (B) LkkExÙkusLk zkÞkuõMkkEz (Nitrogen dioxide)

(C) fkçkoLk {kLkkuõMkkEz (Carbon Monxide) (D) MkÕVh zkÞkuõMkkEz (Sulphur dioxide)

054. Ãkkur÷ÞkuLkk ðkEhMk þheh{kt ............ Úke «ðuþu Au.

(A) {åAhLkk fhzðkÚke (B) çkøkkE fhzðkÚke

(C) Ëqr»kík ¾kuhkf yLku Ãkkýe (D) ÷k¤ yLku Lkkf{ktÚke †kð

055. ÃkÞkoðhýeÞ {tsqhe (Enviornmental Clearance)Lku ÷økíke Lkðe ÞkusLkkyku {kxu ÞkuøÞ ¢{ sýkðku :

(A) ònuh Ãkhk{þo – {qÕÞktfLk – Ãk]ÚÚkfhý – rðMíkkh
(Publick Consultations – Appraisal – Screening – Scoping)

(B) Ãk]ÚÚkfhý – rðMíkkh – ònuh Ãkhk{þo – {qÕÞktfLk
(Screening – Scoping – Public Consultation – Appraisal)

(C) {qÕÞktfLk – Ãk]ÚÚkfhý – rðMíkkh – ònuh Ãkhk{þo
(Appraisal – Screening– Scoping – Public Consultations)

(D) rðMíkkh – ònuh Ãkhk{þo – {qÕÞktfLk – Ãk]ÚÚkfhý
(Scoping – Public Consultations – Appraisal – Screening)
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056. C-DAC yu ¼khíkeÞ hk»xÙeÞ økúez fBÃÞwxªøk ............ Lke þYykík fhe Au.

(A) GARUDA (B) SWAYAM

(C) PARAM (D) SHODH GANGA

057. Mkk{kLÞ heíku økún yÚkðk [tÿLkwt, MkÃkkxe îkhk «rík®çkrçkík ykÃkkríkík «fkþLkk «{kýLku ............ fnuðkÞ Au.

(A) yuçkMfkuhçkku (Abscorbo) (B) ÷urçkzku (Labedo)

(C) yu÷rçkzku (Albedo) (D) Ã÷uMkeçkku (Placebo)

058. Lke[uLkwt Ãkife fÞwt sið{tz¤ (Biosphere) ÞwLkuMfku (UNESCO) Mkthrûkík sið{tz¤ rðï Lkuxðfo{kt Mk{krðü LkÚke ?

(A) f[Lkstøkk (B) yøkMíÞ{k÷k

(C) Lkkufhuf (D) fåALkwt hý

059. rLkðMkLk íktºk{kt (Ecosystem) Lke[uLkwt Ãkife þwt VheÚke ðkÃkhe þfkÞ íkuðw (Recyclable) LkÚke ?

(A) fkçkoLk (B) Ãkkýe

(C) ykuÂõMksLk (D) Qòo

060. Lke[uLkk Ãkife fÞk {kLkð þheh {kxu ykð~Þf Mkwû{ Ãkku»ký ík¥ðku Au ?

1. rðxkr{LkMk 2. «kuxeLk 3. {eLkhÕMk

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 yLku 2 (B) Võík 2 yLku 3

(C) Võík 1 yLku 3 (D) 1, 2 yLku 3

061. ‘÷k¼Lkwt ÃkË’ / ‘ykpVeMk ykpV «kuVex’ MktË¼uo Lke[uLkk rðÄkLkku swyku.

1 ‘÷k¼Lkwt ÃkË’ / ‘ykpVeMk ykpV «kuVex’Lku ¼khíkeÞ MktrðÄkLk yLku ÷kuf «ríkrLkrÄíð yrÄrLkÞ{ 1951{kt ÔÞkÏÞkrÃkík

fhu÷ Au.

2. MP yÚkðk MLA {kxu ‘÷k¼Lkwt ÃkË’ / ‘ykpVeMk ykpV «kuVex’ «ríkçktrÄík Au fkhý fu íku íku{Lku LkkýkfeÞ ÷k¼
{u¤ððkLke ÂMÚkrík{kt {qfe þfu Au.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 Mkk[wt (B) Võík 2 Mkk[wt

(C) 1 yLku 2 çkLLku Mkk[kt (D) 1 yLku 2 {ktÚke fkuE Mkk[kt LkÚke.

062. LÞkÞ Ãkt[kÞíkLkk MktË¼uo Lke[uLkwt Ãkife fÞwt ¾kuxwt Au ?

(A) íkuyku ðifÂÕÃkf Xhkð ÃkØrík çkLkkðu Au.

(B) íku ònuh {wÕfe íku{s VkusËkhe ûkuºkku{kt LÞkrÞf fkÞo fhu Au.

(C) íku ÷kufþkneLku rðfuLÿfhý íkhV Ëkuhe òÞ Au yLku LÞkÞLke Mkh¤ «ðuþ {køko Ãkqhku Ãkkzu Au.

(D) WÃkhkuõík{ktÚke fkuE Lknª
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063. ÷kufMk¼kLkk MÃkefh MktË¼uo Lke[uLkwt Ãkife fÞwt Mkk[w LkÚke ?

(A) MÃkefh øk]nLkk rðþu»kkrÄfkhLku Mk{ÚkoLk ykÃkðk {kxu sðkçkËkh Au.

(B) ¼khíkLkk yufrºkík ¼tzku¤{ktÚke MÃkefhLkku Ãkøkkh ¾[o ykfkhðk{kt ykðu Au.

(C) çktÄkhýeÞ heíku MÃkefh «Úk{ áüktíku {ík ykÃkðk yÃkurûkík LkÚke.

(D) WÃkhkuõík{ktÚke fkuE Lknª

064. yrÄrLkÞ{ MktË¼uo Lke[uLkwt / Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. yrÄrLkÞ{Lke {n¥k{ {kLÞíkk 6 {rnLkk yLku 6 yXðkrzÞk Au.

2. MktMkËLkk çkLLku øk]n Mkºk{kt ykðíkk yrÄrLkÞ{ 6 yXðkrzÞk{kt Mk{kÃík ÚkE òÞ Au.

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 (B) Võík 2

(C) çkLLku 1 yLku 2 (D) 1 yLku 2 {ktÚke fkuE Lknª

065. rËÕne{kt fkÞ{e çkuXf WÃkhktík Mkw«e{ fkuxo ............. Ãký {¤e þfu Au.

(A) {tºke Ãkrh»kË îkhk Lk¬e fhkÞu÷ yLÞ fkuE MÚk¤u

(B) ¼khíkLkk {wÏÞ LÞkÞkÄeþ îkhk hk»xÙÃkrík MkkÚkuLkk Ãkhk{þoLk{kt Lk¬e fhkÞu÷ yLÞ fkuE MÚk¤u

(C) LÞkÞ {tºkk÷Þ îkhk òhe fhkÞu÷ LkkuxeMk{kt yLÞ fkuE MÚk¤u

(D) fuLÿ Mkhfkh ðíke yuzðkufux sLkh÷ îkhk Mkqr[ík fhðk{kt ykðu÷ yLÞ fkuE MÚk¤u

066. ¼khíkeÞ MktrðÄkLk {wsçk, ¼khíkLkk {wÏÞ rLkðko[Lk fr{&™hLkk fkÞofk¤ MktË¼uo Lke[uLkwt Ãkife fÞwt Mkk[w Au ?

(A) 6 ð»ko yÚkðk 65 ð»koLke ykÞw ÚkkÞ íÞkt MkwÄe, su Ãknu÷w nkuÞ íÞkt MkwÄe

(B) 5 ð»ko yÚkðk 62 ð»koLke ykÞw ÚkkÞ íÞk MkwÄe, su Ãknu÷wt nkuÞ íÞk MkwÄe

(C) 6 ð»ko yÚkðk 62 ð»koLke ykÞw ÚkkÞ íÞkt MkwÄe, su Ãknu÷w nkuÞ íÞkt MkwÄe

(D) WÃkhkuõík{ktÚke fkuE Lknª

067. Lke[uLkwt Ãkife fÞwt rðÄkLk Mkk[w Au ?

(A) ¼khíkLke çktÄkhýeÞ Mk¼k Mkkðorºkf {íkkrÄfkh Ãkh ykÄkrhík nkuÞ Au.

(B) ¼khíkLke çktÄkhýeÞ Mk¼kLkk MkÇÞku ÷kufku îkhk MkeÄk [qtxkE ykðíkk nkuÞ Au.

(C) (A) yLku (B) çktLku

(D) (A) yLku (B) {ktÚke fkuE Lknª

068. Lke[uLkwt Ãkife fÞwt ÃkkMkw {q¤¼qík ÄkhýkLkk {k¤¾k{kt LkÚke ?

(A) MktMkËeÞ ÷kufþkne (Parliamentry Democracy)

(B) çktÄkhýLke Mkðkuoå[íkk (Supremacy of Constitution)

(C) fkÞËk ½zðkLke «r¢Þk (Law Making Procedure)

(D) {q¤¼qík yrÄfkhku (Fundamental Rights)
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069. MktMkËLkk çku øk]nku MktË¼uo Lke[uLkwt Ãkife fÞwt Mkk[w Au ?

(A) çktÄkhý{kt MkwÄkhk {kxu ÷kufMk¼k yLku hkßÞ Mk¼k yLku hkßÞ Mk¼kLke Mkh¾e Mk¥kk

(B) çkLLku øk]nkuLke Mk¥kkLkwt «køkxâ Mkn Mk{kLk Au.

(C) hkßÞ Mk¼k {tºke{tz¤Lku XÃkfku ykÃke þfu Au.

(D) çkLLku øk]nkuLku Mkn Mk{kLk [qtxýe Mk¥kk Au.

070. Lke[uLkwt / Lke[uLkk Ãkife fÞwt / fÞk Mkw«e{ fkuxoLkk {q¤ Mk{ÚkoLk{kt LkÚke ?

1. ¼khík Mkhfkh yLku fkuE ÔÞÂõík ðå[u rððkË

2. ¼khík Mkhfkh yLku fkuE hkßÞ Mkhfkh ðå[u rððkË

3. ¼khík Mkhfkh yLku yuf Úke ðÄw hkßÞku MkkÚku rððkË

4. hkßÞku ðå[u rððkË

Lke[uLkk Mktfuíkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

(A) Võík 1 (B) Võík 2

(C) Võík 3 yLku 4 (D) Võík 2, 3 yLku 4

071. Lke[uLkk Ãkife fkuýu fuLÿeÞ {krníke ykÞkuøkLke MÚkkÃkLkk fhe Au.

(A) MktrðÄkLk (B) {tºke{tz¤ / furçkLkux

(C) fuLÿ Mkhfkh (D) MktMkËLkk fkÞËk îkhk

072. ðneðxe MkwÄkhýk ykÞkuøk {wsçk ÷kufÃkk÷Lke rLk{ýqtf ............ fhu Au.

(A) hk»xÙÃkrík MkkÚku Ãkhk{þoLk{kt {wÏÞ LÞkÞkÄeþ, ðzk«ÄkLk

(B) hk»xÙÃkrík MkkÚku Ãkhk{þoLk{kt {wÏÞ LÞkÞkÄeþ ÷kufMk¼kLkk MÃkefh, hkßÞMk¼kLkk yæÞûk

(C) hk»xÙÃkrík MkkÚku Ãkhk{þoLk{kt ðzk«ÄkLk ÷kufMk¼kLkk rðhkuÄ ÃkûkLkk Lkuíkk, hkßÞMk¼kLkk yæÞûk

(D) hk»xÙÃkrík MkkÚku Ãkhk{þoLk{kt ðzk«ÄkLk yLku WÃkhk»xÙÃkrík

073. yktÄú«Ëuþ{kt Lkðk hu÷ðu ÍkuLkLkk rLk{koýÚke ¼khík{kt fw÷ hu÷ðu ÍkuLkLke MktÏÞk nðu ............ Au.

(A) 15 (B) 17

(C) 19 (D) 11

074. Lke[uLkk Ãkife fÞk íkx«Ëuþ{kt ði¿kkrLkfkuyu nk÷{kt ‘{eÚkuLk nkEzÙuxTMkT’ þkuæÞwt Au ?

(A) fu S íkx«Ëuþ (B) ò{Lkøkh íkx«Ëuþ

(C) Lkuðu÷e íkx«Ëuþ (D) fkðuhe íkx«Ëuþ

075. rhÍðo çkUfu W»kk ÚkhkuxLke yæÞûkíkk{kt yuf ÃkuLk÷ çkLkkðe Au su ............... Lku ÷økíke çkkçkíkku òuþu.

(A) fk¤k Lkkýk (Black Money)

(B) ykuVþkuh Lkkýkt {kfuox (Offshore Rupee Market)

(C) yÃk÷kLk MktÃkrík (Non Performance Assets)

(D) sLkÄLk ¾kíkk (Jandhan Account)
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076. ©e ¼økðkLk ÷k÷ þkn nk÷{kt Mk{k[kh{kt Au fkhý fu íkuykuLke rLk{ýqtf ............ Lkk yæÞûk íkhefu ÚkE Au.

(A) hk»xÙeÞ ÃkAkík ðøko ykÞkuøk (B) hk»xÙeÞ {kLkð yrÄfkh ykÞkuøk

(C) {wÏÞ Mkthûký f{o[khe - ðøko (MxkV) (D) WÃkhkuõík{ktÚke fkuE Lknª

077. 8 {k[o 2019 Lkk hkus yktíkhk»xÙeÞ {rn÷k rËðMk WsðkÞku, yk ð»koLke íkuLke Úke{ ............ Au.

(A) LkðkuíÚkkLk{kt çkÄk {kxu Mk{kLk íkfku ‘Equal Oppurtunities for all in innovation’

(B) Mk{kLk rð[khku, rËÃík rLk{koý, ÃkrhðíkoLk {kxu LkðkuíÚkkLk ‘Think Equal, Build Smart, Innovate for Change’

(C) Mk{kLk rð[khku, Mk{kLk Mkn¼krøkíkk, Mk{kLk òuøkðkE ‘Think Equal, Share Equal, Provide Equal’

(D) Mk{kLk rð[khku, LkðkuíÚkkLk Úke çkË÷kð ‘Think Equal, Bring Change with Innovation’

078. ¼khík - hrþÞk Mkçk{heLk fhkh MktË¼uo Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt LkÚke ?

(A) hrþÞLk Mkhfkh s÷ÞkLk 2030 MkwÄe WÃk÷çÄ fhkðþu.

(B) hrþÞk [¢ - III, yfw÷k «fkhLkwt s÷ÞkLk ÃknkU[kzþu.

(C) ºkesw hrþÞLk s÷kÞkLk íku ¼khíkeÞ LkkiMkuLkkLku Ãkxu ykÃkþu.

(D) WÃkhkuõík{ktÚke fkuE Lknª.

079. EÚkkurÃkLk nðkE snks xqxe Ãkzâwt íÞkh çkkË ¼khíkeÞ Mkneík Lke[uLkk Ãkife fÞk nðkE snksLku Wíkkhý fhðk{kt ykÔÞw
níkwt ?

(A) yuhçkMk - 380 (B) çkkuBçkkhzeÞh yuxe 700

(C) çkku#øk 737 {uõMk (D) fkuLkfkuzo - 80

080. yÚkoíktºk rLkÄkohý yusLMke ‘{qzeÍ’ ‘Moodys’ Lke Äkhýk «{kýu ¼khíkeÞ yÚkoíktºkLkku rðfkMk Ëh 2019-2020{kt

............ hnuþu.

(A) 6.8% (B) 7.3%

(C) 8.2% (D) 9.0%

081. Lke[uLkk Ãkife fÞk ËuþLke ytíkheûk MktþkuÄLk MktMÚkk (Space Research Organization) MkkÚku ¼khíkeÞ ytíkheûk MktþkuÄLk

MktMÚkkyu {uhexkE{ MkðkoE÷LMk fhkh fÞko Au ?

(A) Þw. yuMk. yu. (B) Þw. fu.

(C) s{oLke (D) £kLMk

082. YÃkktíkhý, yðuSfhý, Lkk{ çkË÷k {kxuLke E-Ähíke yuÃk ............ îkhk þY fhðk{kt ykðe Au.

(A) øk]n yLku þnuhe çkkçkíkkuLkk {tºkk÷Þ (B) ÃkÞkoðhý yLku ðLk {tºkk÷Þ

(C) {køko ÃkrhðnLk {tºkk÷Þ (D) WÃkhkuõík{ktÚke fkuE Lknª
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083. MðåA Mkðuoûký 2019 yuðkuzo {wsçk Lke[uLkk Ãkife fÞk þnuhLku 10 ÷k¾Úke ðÄw ðMíke Ähkðíkk þnuhLke ©uýe{kt ©uc ½kur»kík
fhðk{kt ykÔÞw Au ?

(A) Mkwhík (B) y{ËkðkË

(C) ðzkuËhk (D) hksfkux

084. hk»xÙeÞ økúk{eý MðåAíkk Mkðuoûký 2018-19 {wsçk ÷øk¼øk ............ % ½hku{kt þki[k÷Þ MkwrðÄk WÃk÷çÄ Au ?

(A) 63.1 (B) 76.2

(C) 81.4 (D) 93.1

085. ‘ykÍkËe fu ËeðkLku’ ¼khíkLkk Mðíktºkíkk Mktøkúk{Lkk økw{Lkk{ LkkÞfkuLku Mk{ŠÃkík Mktøkúnk÷ÞLkwt WËT½kxLk ............ {kt ÚkÞwt.

(A) EÂLzÞk økux (B) ¼khíkLke MktMkË

(C) ÷k÷ rfÕ÷ku (D) ÃkkLkeÃkík

086. yuf Mkktfuríkf ¼k»kk{kt “ENGLISH”Lkku fkuz “GPINKUJ” nkuÞ íkku “FRENCH Lkku fkuz fÞku Úkþu ?

(A) HTFPEJ (B) HUGPEJ

(C) HTFPFJ (D) HTGPEJ

087. yuf Ëkuzðeh þYykíkLkk ®çkËwÚke Ãkrù{ íkhV 12 rf.{e. sux÷w Ëkuzu Au. íÞkhçkkË íku ÃkkuíkkLke s{ýe íkhV ð¤e 5 rf.{e.

sux÷wt Ëkuze W¼ku hnu Au. íkku íku þYykíkLkk ®çkËwÚke íkuLkwt ÷½w¥k{ ytíkh fux÷w nþu ?

(A) 16 rf.{e. (B) 13 rf.{e.

(C) 17 rf.{e. (D) WÃkhLkk Ãkife fkuE Lknª

088. yuf [kuhMkLkk çku rðfýkuoLkku økwýkfkh 76 [ku. Mku{e nkuÞ íkku íkuLkwt ûkuºkV¤ fux÷wt Úkþu ?

(A) 38 [ku. Mku{e (B) 57 [ku. Mku{e

(C) 76 [ku. Mku{e (D) WÃkhLkk Ãkife fkuE Lknª

089. Lke[u Ãkife fE MktÏÞk 9 ðzu rð¼kßÞ Au ?

(A) 87675 (B) 56743

(C) 62343 (D) WÃkhLkk Ãkife fkuE Lknª

090. Yk. 25,000 [¢ð]rØ ÔÞksu 6% Lkk Ëhu 2 ð»ko {kxu {qfðkÚke fux÷wt ÔÞks {¤þu ?

(A) Yk. 3,000 (B) Yk. 3,060

(C) Yk. 3,090 (D) WÃkhLkk Ãkife fkuE Lknª

091. òu a – b = 7 yLku a2 + b2 = 85 nkuÞ íkku ab Lke ®f{ík fux÷e Úkþu ?

(A) 18 (B) 8

(C) 300 (D) WÃkhLkk Ãkife fkuE Lknª
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092. çkkðLk ÃkkLkk{ktÚke yuf ÃkkLkwt ÞkáÂåAf heíku WÃkkzðk{kt ykðu Au, íkku íku ÃkkLkwt hkò yÚkðk hkýeLkwt nkuÞ íkuLke Mkt¼kðLkk
fux÷e ?

(A) 1/13 (B) 2/13

(C) 4/13 (D) WÃkhLkk Ãkife fkuE Lknª

093. 69169Lkwt ðøko{q¤ fux÷wt Úkþu ?

(A) 277 (B) 273

(C) 267 (D) WÃkhLkk Ãkife fkuE Lknª

094. 70 rf.{e./f÷kf Lke ÍzÃku síke yuf xÙuLkLku 250 {exh ÷ktçkku Ã÷uxVku{o ÃkMkkh fhíkk 36 Mkuftz ÷køkíke nkuÞ íkku xÙuLkLke
÷tçkkE fux÷e nþu ?

(A) 450 {exh (B) 750 {exh

(C) 950 {exh (D) WÃkhLkk Ãkife fkuE Lknª

095. yuf þnuhLke ðMíke yuf ËMkfk{kt 2,25,000 Úke ðÄeLku 3,12,500 ÚkkÞ Au. íkku ðMíke ðÄkhkLke Mkhuhkþ ðkŠ»kf xfkðkhe

fux÷e Úkþu ?

(A) 2.88% (B) 3.88%

(C) 4.28% (D) 4.88%

096. Lke[uLke ©uýe{kt ykøkk{e ÃkË fÞwt ykðþu ?

S23M, U21L, W19K, (...?...)

(A) Y17I (B) Z17J

(C) X15M (D) Y17J

097. Lke[u Ãkife fÞk ð»ko{kt 366 rËðMk nþu ?

(A) 1762 (B) 1864

(C) 1974 (D) WÃkhLkk Ãkife fkuE Lknª

098. 15, 25, 40 yLku 75 ðzu rð¼kßÞ nkuÞ yuðe [kh ytfLke {kuxk{kt {kuxe MktÏÞk fE nþu ?

(A) 9200 (B) 9400

(C) 9600 (D) WÃkhLkk Ãkife fkuE Lknª

099. ºký r{ºkkuLke nk÷Lke ô{h 3:4:6 Lkk økwýku¥kh{kt Au. òu 4 ð»ko Ãknu÷k íku{Lke íku Mk{ÞLke ô{hLkku Mkhðk¤ku 66 nkuÞ íkku

MkkiÚke {kuxk r{ºkLke nk÷Lke ô{h fux÷e nþu ?

(A) 30 ð»ko (B) 36 ð»ko

(C) 42 ð»ko (D) WÃkhLkk Ãkife fkuE Lknª

100. yuf ËwfkLkËkh yuf ykxeof÷ ¾heãk çkkË íkuLkk Ãkh htøk hkuøkkLk {kxu Yk. 430 ¾[o fhu Au. íÞkhçkkË íku ykxeof÷Lke Ãkzíkh

®f{ík Ãkh 20% LkVku ÷E Yk. 3,600{kt ðu[u Au. íkku íku ykxeof÷Lke {q¤ ®f{ík fux÷e nþu ?

(A) Yk. 2,570 (B) Yk. 3,000

(C) Yk. 3,170 (D) WÃkhLkk Ãkife fkuE Lknª
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101. By which of the following ways is lime obtained?

(A) Naturally (B) Quarrying

(C) Crushing limestone (D) Burning limestone

102. Which of the below joints is used for masonry in arches?

(A) Dowel (B) Table

(C) Rebated (D) Butt

103. The rocks which are formed due to cooling of magma at a considerable depth from earth’s

surfaceare called

(A) Igneous rocks (B) Plutonic rocks

(C) Volcanic rocks (D) Hypabyssal rocks

104. Chromatic glass is used in:

(A) Mobile screen protectors (B) Aquariums

(C) ICU and meeting rooms (D) Floors

105. Aluminium is commercially produced from:

(A) Aluminium sulphate (B) Alum

(C) Cryolite (D) Bauxite

106. By which of the below process is Aluminium manufactured?

(A) Mayer process (B) Ostwald process

(C) Bayer process (D) Haber process

107. How much percentage of fly ash is, mixed with Portland cement?

(A) 5 to 10% (B) 10 to 25%

(C) 30 to 50% (D) 50%

108. What do you mean by admixtures?

(A) Ingredients added in concrete to make good workability

(B) Ingredients which are added to make aggregates healthier

(C) Ingredients added in cement to make it shinier

(D) Ingredients which are added to in cement before or after concrete mix

109. Which of the following option doesn’t come in chemical admixtures?

(A) Pozzolanic (B) Plasticizers

(C) Super plasticizer (D) Accelerators

110. Timbers with which type of annular rings are generally the strongest.

(A) Indistinct (B) Wide

(C) Distinct (D) Narrow

111. The water permeability of timber is greater:

(A) Along centre (B) Along barks

(C) Along annual rings (D) Along fibres

112. Which is the most rapid and effective method of seasoning?

(A) Chemical seasoning (B) Kiln seasoning

(C) Electric seasoning (D) Natural seasoning

113. What is the initial setting time of cement?

(A) 30 minutes (B) 60 minutes

(C) 15 minutes (D) 30 hours
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114. What is released during the production of clinker?

(A) CaCO3 (B) CO

(C) Ca(OH)2 (D) CO2

115. How much does a bag of cement weigh?

(A) 50 kg (B) 35 kg

(C) 25kg (D) 15 kg

116. Which cement contains high percentage of C3S and less percentage of C2S?

(A) Quick Setting Cement (B) Ordinary Portland Cement

(C) Rapid Hardening Cement (D) Low Heat Cement

117. Which compound gives the colour to the cement?

(A) Iron Oxide (B) Silica

(C) Lime (D) Alumina

118. MM 1.5 means:

(A) Masonry Mortar of compressive strength 1.5N/mm2.

(B) Mild Mortar of cement content 1.5 bags

(C) Masonry Mortar of cement content 1.5 bags

(D) Mild Mortar of compressive strength 1.5N/mm2.

119. The guidelines for preparation and handling for mortar is given in:

(A) IS 4455 (B) IS 2250-1981

(C) IS 3350-1981 (D) IS 5567

120. Which of the below mortar can settle under water?

(A) Hydrolytic (B) Flyash

(C) Lime (D) Pozzolana

121. Which equipment is used to test the setting time of cement?

(A) Core cutter (B) Vibrator

(C) Vicat apparatus (D) Universal testing machine (UTM)

122. M15 concrete is used for:

(A) Foundations (B) Dams

(C) R.C.C (D) Mass concreting works

123. The compressive strength of OPC increases with time:

(A) True (B) False

(C) May be (D) None of above

124. What is the approx. mix proportion for M10?

(A) 1:3:6 (B) 1:2:4

(C) 1:1.5:3 (D) 1:1:2

125. What is the approx. mix proportion for M25?

(A) 1:3:6 (B) 1:2:4

(C) 1:1.5:3 (D) 1:1:2

126. The _________ compressive strength required from structural consideration.

(A) Minimum (B) Moderate

(C) Maximum (D) None of above

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AHE - 101 to 300 - MASTER ] 3 P.T.O.

127. Which of the below property of aggregates is not desirable?

(A) Smooth texture (B) Well graded

(C) Modular shape (D) Angular shape

128. Workability of concrete mix reduces with time.

(A) True (B) False

(C) Partially true (D) Partially false

129. More water should not be added in the concrete mix, as to increase

(A) Strength (B) Durability

(C) Water-cement ratio (D) All of the above

130. In following Method, the voids of coarse aggregate and fine aggregate are determined separately.

(A) Arbitrary method (B) Maximum void method

(C) Minimum void method (D) Optimum void method

131. The strength of well compacted concrete with good workability is depend only on the _________

(A) Water content (B) Water-cement ratio

(C) Cement ratio (D) Water-soaked ratio

132. Water content is given by:

(A) Weight of water/mass of soil (B) Mass of water/mass of soil

(C) Mass of water/mass of solid (D) Mass of water/weight of solid

133. ____________ index is used to find settlement of soil.

(A) Tensile (B) Expansion

(C) Recompression (D) Compression

134. Which of the following does happen when compaction is done?

(A) Permeability decreases (B) Water content increases

(C) Shear strength increase (D) Compressibility decreases

135. Triaxial compression test is used to find __________ of soil.

(A) Compressive strength (B) Shear strength

(C) Specific gravity (D) Permeability

136. How many types of pores are present in a soil mass?

(A) 6 (B) 3

(C) 5 (D) 4

137. Fine grained soil are sub divided in to___________

(A) Silt and clay (B) Sand and clay

(C) Organic and silt (D) Gravel and peat

138. Fine grained soil is subdivided based on___________

(A) Liquid limit and Plasticity index (B) Group Index

(C) None of the mentioned (D) All of the above

139. The factor that is responsible for inclination of resultant pressure to the retaining wall

is__________

(A) Weight of the wall (B) Surcharge

(C) Earth pressure (D) Frictional force
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140. The factor that is responsible for inclination of resultant pressure to the retaining wall

is__________

(A) Surcharge (B) Frictional force

(C) Earth pressure (D) Weight of the wall

141. Foundations can be broadly classified under__________

(A) None of the mentioned

(B) Pile foundation

(C) Shallow foundation and Deep foundation

(D) All of the above

142. Which of the following is a type of shallow footing?

(A) Spread footing (B) Pile foundation

(C) Pier foundation (D) Well foundation

143. Which of the below is the most commonly used shallow foundation?

(A) Strap footing (B) Raft footing

(C) Combined footing (D) Spread footing

144. In cohesive soil, the pressure distribution beneath the footing is___________

(A) Linear (B) Non linear

(C) Concentric (D) None of the mentioned

145. When two column loads are unequal, which of the possible footing can be provided?

(A) Strap footing (B) Raft footing

(C) Trapezoidal combined footing (D) Mat footing

146. ___________ footing is used in load bearing masonry construction.

(A) Isolated (B) Strap

(C) Pile (D) Strip

147. Pier foundation is also called:

(A) Box (B) Caisson

(C) Bridge (D) Girder

148. Portion of dam in contact with ground at downstream side is __________

(A) Crest (B) Toe

(C) Foot (D) Heel

149. ___________ is the arrangement made near top of dam for passage of excess water from the

reservoir.

(A) Sluice way (B) Gallery

(C) Spillway (D) Abutments

150. _________ is a temporary dam constructed to exclude water from a specific area.

(A) Debris dam (B) Diversion dam

(C) Coffer dam (D) Storage dam

151. Earth dams are having shape of;

(A) Trapezoidal (B) Rectangular

(C) Triangular (D) Circular
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152. What is serviceability?

(A) It refers to condition when structure is not usable

(B) It refers to services offered in the structure

(C) It means that the structure should perform satisfactorily under different loads, without

discomfort to user

(D) It means that structure should be economically viable

153. Steel structure’s analysis is referred to;

(A) determination of cost of structure

(B) drafting architectural plans and drawings

(C) determination of factor of safety

(D) determination of axial forces, bending moment, shear force etc.

154. Which method is mainly adopted for design of steel structures as per IS code?

(A) Earthquake Load Method (B) Working Stress Method

(C) Ultimate Load Method (D) Limit State Method

155. Which IS code is used for general construction of steel?

(A) IS 456 (B) IS 256

(C) IS 800 (D) IS 100

156. Which of the following relation is correct?

(A) Permissible Stress = Yield Stress x Factor of Safety

(B) Permissible Stress = Yield Stress – Factor of Safety

(C) Yield Stress = Permissible Stress / Factor of Safety

(D) Permissible Stress = Yield Stress / Factor of Safety

157. Which of the following is not a main element of framed structure?

(A) Beam (B) Shear connector

(C) Column (D) Lattice member

158. What is riveting?

(A) method of joining together pieces of metal by inserting ductile metal pins called rivets

(B) process of making mould for structure

(C) the process of making holes in the structure

(D) method of joining together pieces of metal by inserting non ductile metal pins called rivets

159. Size of rivet hole is _________ size of rivet

(A) not compared with (B) less than

(C) equal to (D) more than

160. What are pin connections?

(A) structural members connected by bolts

(B) structural members connected by bolts and pins

(C) structural members connected by cylindrical pins

(D) structural members connected by welding
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161. Members joined by pin connections are separated some distance _____

(A) to allow for bolt heads (B) to allow friction

(C) to allow bending (D) to allow to be removed

162. When are longitudinal stiffeners introduced to beam splices?

(A) when change in size between two sections of beam occurs

(B) when change in size between two sections of beam does not occur

(C) when change in moment between two sections of beam occurs

(D) when change in moment between two sections of beam does not occur

163. Which of the following is true when end plate splices is used for columns?

(A) Short end plates are used for heavy moments

(B) Extended end plates are used for moderate moments

(C) Short end plates and extended end plates are used for moderate moments

(D) Short end plates are used for moderate moments

164. Position of splices should be _____ in normal practice.

(A) just above the floor level

(B) at three fourth height of column from bottom of column

(C) at three fourth height of column from top of column

(D) at mid height of columns

165. What are steel tension members?

(A) Structural elements that are subjected to direct compressive loads

(B) Structural elements that are subjected to direct tensile loads

(C) Structural elements that are subjected to indirect compressive loads

(D) Structural elements that are subjected to indirect tensile loads

166. The strength of tensile members is not influenced by :

(A) length of connection (B) length of plate

(C) type of fabrication (D) net area of cross section

167. Sagging of members by built up bars and rods may be minimised by

(A) increasing length diameter

(B) fabricating rod/bar short of its required theoretical length

(C) increasing thickness ratio

(D) fabricating rod/bar more than its required theoretical length

168. What is apparent modulus of elasticity?

(A) ratio of average strain carried by plate to average stress

(B) ratio of average stress carried by plate to average strain

(C) product of average strain carried by plate to average stress

(D) product of average stress carried by plate to average strain

169. What is a plastic section?

(A) cross section which can develop plastic moment

(B) cross section which can resist seismic force

(C) cross section which can develop plastic hinges

(D) cross section in which buckling can occur
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170. What is a semi-compact section?

(A) cross section which can develop plastic moment resistance

(B) cross section which can resist seismic force

(C) cross section in which elastically calculated stress in extreme compression fibre can reach

yield strength

(D) cross section which can develop plastic hinges

171. What is a slender section?

(A) cross section which can develop plastic moment resistance

(B) cross section in which local buckling will occur before yield stress

(C) cross section in which elastically calculated stress in extreme compression fibre can reach

yield strength

(D) cross section which can resist seismic force

172. Buckling occurs to members or elements mainly subjected to ________

(A) compressive forces (B) tensile forces

(C) seismic forces (D) shear forces

173. Lowest value of buckling coefficient for simply supported plates is _____

(A) 2.0 (B) 3.0

(C) 4.0 (D) 5.0

174. Which one of the following represents an activity

(A) excavation for foundation (B) curing of concrete

(C) setting of question paper (D) All of the above

175. The performance of a specific task in CPM, is known

(A) Dummy (B) Activity

(C) Event (D) Contract

176. Completion of an activity on CPM network diagram, is generally known

(A) Event (B) Node

(C) Connector (D) All of the above

177. A dummy activity

(A) All of the mentioned (B) is represented by a dotted line

(C) does not consume time (D) is artificially introduced

178. Time and progress chart of a construction, is also known as

(A) Bar chart (B) Gantt chart

(C) Modified Mile stone chart (D) All of the above

179. The most popular type of organisation used for Civil Engineering Constructions, is

(A) line and staff organisation (B) line organisation

(C) functional organisation (D) effective organisation.

180. Critical path method

(A) is an improvement upon bar chart method

(B) provides a realistic approach to daily problems

(C) avoids delays which are very common in bar charts

(D) All of the above
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181. Critical path lies along the activities having total float

(A) zero (B) negative

(C) positive (D) same

182. The estimated time required to perform an activity, is known as

(A) duration (B) dummy

(C) event (D) float

183. If the total float and duration of an activity are 15 and 30 days respectively, the particular

activity can be

(A) started 15 days later (B) completed 15 days later

(C) performed at slower rate in 45 days (D) All of the above

184. Modular co-ordination of construction means proper

(A) planning (B) designing

(C) execution (D) All of the above

185. Bar charts are suitable for

(A) interior works (B) major works

(C) large projects (D) None of the above

186. Which one of the following statements is correct to remote sensing?

(A) The basic property used to identify objects, is called signature.

(B) The ratio of the reflected flux to incident flux is called reflectance which varies fron 0 to 1.

(C) The surface from which emergent radiance is constant in all directions is called Lambertian

surface.

(D) All of the above

187. Remote sensing techniques makes use of the properties of emitfed, reflected or diffracted by the

sensed objects:

(A) electric waves (B) electromagnetic waves

(C) sound waves (D) wind waves

188. The basic requirement of any sensor system, is :

(A) radiometric resolution (B) spatial resolution

(C) All of the above (D) None of the above

189. BIM is known as

(A) Building Information Modelling

(B) Building Infrastructure Modelling

(C) Building Infrastructure Manufacturing

(D) Building Information Modularising

190. Printed in 17 days and constructed in 48 hours, the first 3D-printed office building in the world

is in

(A) Shanghai (B) Tokyo

(C) New York (D) Dubai

191. The use of plastic fibers in unreinforced soil reduces

(A) Consolidation and Swelling. (B) moisture

(C) sodium quantity (D) None of the above
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192. ASI stands for Archaeological Survey Of India

(A) Archaeological Survey of India (B) Architectural Survey of India

(C) Aeronautical Survey of India (D) Agricultural Survey of India

193. UNESCO stands for

(A) United Nations Emergency Shelter and Cooperation Organization

(B) United Nations Educational, Scientific and Cultural Organization

(C) United Nations Election, Society and Community Organization

(D) None of the above

194. What is the tool to accomplish the task of preparation of ‘Statements of Significance’ for value

assessment?

(A) Stakeholder consultation (B) Cultural methods

(C) Group process (D) Economic methods

195. Which of the following is NOT a step involved in Indirect Conservation of any heritage property?

(A) Preventing agents of decay

(B) Regular inspection and maintenance

(C) Controlling the internal humidity and temperature

(D) Addition of an admixture through pressure grouting

196. Adaptive reuse is

(A) Continuing with the present use after restoration

(B) Finding a suitable new use for a heritage property

(C) Change of place to suit the existing use

(D) None of the above

197. Who among the following was a Director General of ASI and a key personnel in the excavation

of prehistoric sites of Harappa and Mohenjo-Daro

(A) John Marshall (B) William Morris

(C) James Burgess (D) Alexander Cunningham

198. Keeping an object in its existing state is

(A) Preservation (B) Rehabilitation

(C) Consolidation (D) Restoration

199. Which of the followings is NOT a cause of structural defects in historic buildings?

(A) Heaving clay (B) Blocked gutters and spouts

(C) Settlement (D) Subsidence

200. Glass tell-tale is used to monitor which type of defect in historic buildings?

(A) Flaking (B) Staining

(C) Efflorescence (D) Cracks

201. Which of the following phenomenon of decay in historic buildings built with porous building

materials, is caused by rising dampness and subsequent capillary action?

(A) Salt crystallisation (B) Differential settlement

(C) Pushing action (D) Foundation Settlement
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202. Which of the following items is not the objective of detailed analysis carried out as a part of

conservation document prepared for a heritage property?

(A) Diagnosis of principal decay mechanism

(B) Assessment of general strength properties

(C) Accurate recording of evidence

(D) Causes of structural distress.

203. Who take cares of Ellora caves?

(A) Government of Maharashtra (B) Archaeological Survey of India

(C) Ministry of Culture (D) Ministry of Tourism

204. The temporary framework is known as __________ and it is useful in maintenance or repair

works of Heritage monuments.

(A) Underpinning (B) Shoring

(C) Scaffolding (D) Grouting

205. In __________ type of scaffolding, the working platform is supported on movable contrivances

such as Ladders, tripods, etc., mounted on wheels.

(A) Trestle scaffolding (B) Cantilever scaffolding

(C) Mason’s scaffolding (D) Bricklayers scaffolding

206. The placing of new Foundation below and existing foundation of the process of strengthening

the existing Foundation is known as the ___________ of foundation.

(A) Shoring (B) Underpinning

(C) Grouting (D) Scaffolding

207. The main reason for cracks in masonry joints is:

(A) Moisture (B) Sulphate

(C) Magnesium (D) Sodium

208. Shear cracks between the main wall and cross wall can be corrected using:

(A) Grouting (B) Rebuilding

(C) Guining (D) Toothing

209. The chemical heptachlor in anti-termite proofing has concentration by weight of:

(A) 0.5% (B) 0.1%

(C) 0.3% (D) 0.2%

210. Ruins in Lothal, Gujarat

(A) Social (B) Ecological

(C) Associative (D) Archaeological

211. House of Gandhiji at Porbandar is _____________type of monument.

(A) Scientific (B) Archaeological

(C) Distinctive Architecture (D) Associative

212. VijayaStambha at Chittorgarh is _____________type of monument.

(A) Spiritual (B) Scientific

(C) Symbolic (D) Archaeological

213. Which primary criteria of assessment does JantarMantar, Jaipur relates to ?

(A) Historic significance (B) Artistic significance

(C) Scientific significance (D) Social significance

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AHE - 101 to 300 - MASTER ] 11 P.T.O.

214. Which of the following is not true as per the procedure of implementation laid down in World

Heritage Convention 1972?

(A) Inscription of properties that are nominated by a country as Heritage Sites in Danger

(B) Protection and conservation of World Heritage Properties

(C) Mobilization of national and international support

(D) Granting of International assistance under World Heritage Fund

215. Preventing nesting of birds can be a measure to avoid which of the following damages to historic

structures?

(A) External causes of decay (B) Natural disasters

(C) Biological and botanical causes (D) Man-made causes of decay

216. TajMahal is affected by which of the following man made causes of decay?

(A) Inappropriate repair (B) Atmospheric Pollution

(C) Pathological factors (D) Salty water

217. At  neutral axis bending stress is

(A) zero (B) maximum

(C) minimum (D) average

218. Because of torsion, maximum stress occurs at

(A) Neutral  axis (B) Extreme fiber

(C) Mid (D) 1/4th of depth of beam

219. Mild  steel  is

(A) ductile (B) brittle

(C) elastic (D) inelastic

220. Shear stress is generally maximum at

(A) Neutral  axis (B) Extreme fiber

(C) mid (D) 2/3rd of depth of beam

221. Plane stress to plane strain ratio is known as

(A) Modulus of elasticity (B) Poisson’s ratio

(C) Modulus of rigidity (D) stiffness

222. Lateral strain to linear strain is known as

(A) Modulus of elasticity (B) Poisson’s ratio

(C) Modulus of rigidity (D) stiffness

223. Resistance towards  deformation is known as

(A) Flexibility (B) Toughness

(C) stiffness (D) strength

224. M/I = f/y  is a formula for calculation of

(A) Shear stress (B) Torsion stress

(C) Bending stress (D) Plane stress

225. Principal stresses are perpendicular to principal planes

(A) True (B) false

(C) Not always (D) rarely
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226. Shear stress suddenly increases if width of the section is suddenly reduced

(A) False (B) Not necessary

(C) True (D) In exceptional cases only

227. Under tension test , cast iron shows

(A) Ductile failure (B) Brittle failure

(C) Semi elastic failure (D) Plastic failure

228. As temperature increases, material

(A) elongates (B) shortens

(C) Remains as it is (D) fails

229. If actual stress induced > permissible stress, material

(A) Fails (B) Goes in plastic range

(C) Goes in elastic range (D) Goes in strain hardening range

230. Within elastic limit, stress is “_______” proportional to strain

(A) cubically (B) inversely

(C) linearly (D) exponentially

231. Shear stress is maximum for a simply supported beam at

(A) Mid span (B) Under point load

(C) At support (D) At 1/4th from left support

232. Principal plane is  a plane  on which shear stress is

(A) Maximum (B) Minimum

(C) Zero (D) Half of principal stress

233. Mohr circle is a plot between normal stress verses

(A) Principal stress (B) Principal strain

(C) Shear stress (D) Maximum normal stress

234. Change in length / original length is known as

(A) Stress (B) Modulus of elasticity

(C) Strain (D) Deformation

235. Railway tracks are having gap in between, which is known as

(A) Expansion joint (B) Seismic joint

(C) Construction joint (D) Sliding joint

236. If railway tracks are not provided with expansion joint , they are subjected to

(A) Normal stress (B) Tensile stress

(C) Bending stress (D) Temperature stress

237. Bending Moment diagram for simply supported beam subjected to udl is always

(A) Hogging in nature (B) Sagging in nature

(C) Clockwise (D) Anticlockwise

238. shear force is maximum at

(A) centre (B) Support

(C) Under point load (D) Between range of udl
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239. Bending moment is maximum at point where

(A) Shear force diagram changes sign from +ve  to –ve

(B) Shear force is +ve

(C) Shear force is –ve

(D) Shear force is maximum

240. Formula to calculate shear stress is

(A) M/I = f/y (B) f/y = R/E

(C) SAy/bI (D) SIy/Ab

241. Moment distribution method is used for

(A) Determinate beams (B) Indeterminate beams

(C) Cantilever beam (D) Simply supported beam

242. Fixed end moment for a fixed beam subjected to full udl is

(A) Wl3/3EI (B) Wl2/12

(C) Wl/8 (D) Wl2/8

243. carry over factor in moment distribution method is always

(A) 1/2 (B) 1/4

(C) 4EI/L (D) 3EI/L

244. Members of truss transfers load by

(A) Bending (B) Shear

(C) Torsion (D) Axial force

245. Members of truss are always connected by

(A) Hinge connection (B) Fix connection

(C) Roller (D) Rigid connection

246. In rigid frames, connection between Beam & column is

(A) Fixed (B) Free

(C) Hinge (D) Roller

247. Suspended cables transfers load in

(A) Tension (B) Compression

(C) Twisting (D) Bending

248. When natural frequency & forced frequency are equal

(A) Resonance occurs (B) Free vibration happens

(C) Forced vibration happens (D) Damped vibration happens

249. Influence lines are the diagram of

(A) Shear force due to moving load as a function of the position of that load.

(B) Shear force due to fixed load

(C) Bending moment Due to fixed load

(D) Shear force due to moving load.

250. Computer software generates analysis based on

(A) Stored  data (B) Stored  & input data

(C) Input data (D) Is codes
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251. Shear stress to shear strain is known as

(A) Toughness index (B) Modulus of elasticity

(C) Modulus of Rigidity (D) Modular ratio

252. Clear cover  for RCC  slab is

(A) 20 mm (B) 15 mm

(C) 60 mm (D) 25 mm

253. Slab is generally designed for

(A) Bending (B) Shear

(C) Axial compression (D) Axial Tension

254. In case of a one way slab , bending is observed in

(A) Two direction. (B) One Direction

(C) Three direction (D) All the direction

255. Shear at a cross section  in Rcc Beam is resisted by

(A) Bent up bars (B) Concrete

(C) Stirrups (D) All of the above

256. In Cantilever beam , more steel is put at

(A) Top (B) Bottom

(C) Mid (D) Side

257. In one way slab , main steel is put

(A) Parallel to longer dimension of slab

(B) Parallel to shorter  dimension of slab

(C) Parallel to both dimension of slab

(D) Perpendicular to shorter dimension of slab

258. The role of distribution steel  in slab is to

(A) Distribute load evenly on main steel

(B) Avoid cracks due to temperature stress

(C) Both (A) and (B)

(D) Support main steel

259. In Fe-415 steel , 415 is a value showing

(A) fy (B) fu

(C) fck (D) ft

260. In M20 grade of concrete , 20 is characteristic strength of concrete after

(A) 30 days (B) 22 days

(C) 28 days (D) 25 days

261. For designing water tank, main design criteria is to avoid

(A) Cracking (B) Bending

(C) Axial compression (D) Axial tension

262. Hoop tension is

(A) Axial tension (B) Diagonal tension

(C) Circumferential   tension (D) Radial  force
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263. Pre tensioning  is  a method in which

(A) Tendons or strands are pre stressed  before concrete is poured

(B) Tendons are pre stressed  after concrete is poured

(C) Hysd bars are pre stressed before pouring concrete

(D) Concrete is pre stressed after putting tendons

264. Pre tensioning method is generally used in

(A) Field (B) Laboratory study

(C) Factory building (D) Bridges

265. In pre stressing , reverse type of stress is induced in flexural members

(A) True (B) False

(C) Not always (D) Hardly

266. Foundation design depends mostly on

(A) SBC of soil (B) Size of footing

(C) Depth of footing (D) Cover to reinforcement

267. For more than 5 m height , which following type of retaining wall becomes uneconomical ?

(A) Cantilever type (B) Counter fort type

(C) L   shape type (D) Counter fort with shear key

268. in dog legged staircase slab is designed as

(A) Waist slab , spanning longitudinally between two beams

(B) Cantilever slab

(C) Simply supported slab

(D) Shell

269. Maximum slenderness ratio for unreinforced masonry  building using  cement mortar is

(A) 22 (B) 27

(C) 20 (D) 12

270. The permissible stress of unreinforced masonry depends on

(A) Basic compressive strength of masonry

(B) Stress reduction factor

(C) Area  reduction factor

(D) All of the above

271. Seismic gap is provided to avoid

(A) Torsion mode of failure (B) Displacement mode

(C) Shear (D) Bending

272. In confined zone , spacing of lateral ties for column is

(A) Closely spaced (B) Regularly spaced

(C) Loosely spaced (D) Not placed at all

273. In pre stressed beams

(A) Stress at transfers needs  to be checked

(B) Stress at service needs to be checked

(C) Both (A) and (B)

(D) No need to check stress
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274. in L  shape plan of building in earthquake zone

(A) Seismic joint should be provided at ends

(B) Seismic joint should be provided at centroid of L shape

(C) Seismic joint is needed to provide to separate two rectangles

(D) Seismic joint is needed to join two rectangles

275. In post tensioning , cable layout follows

(A) Shear force diagram (B) Bending moment diagram

(C) Axial force diagram (D) Axial stress diagram

276. In masonry structures , walls are designed for stability considering

(A) Buckling (B) Le/te ratio

(C) He/te ratio (D) All of the above

277. maximum dry density is achieved at

(A) Optimum moisture content (B) 10% moisture content

(C) 5% moisture content (D) Maximum void ratio

278. Geo fibres are used for

(A) Increasing slope stability (B) Decreasing strength

(C) Maintain porosity of soil (D) Lubricating soil particles

279. Principal of surveying is working

(A) From Part to whole (B) From intermediate station

(C) From extending survey lines (D) From whole to part

280. Hydrology survey is used for

(A) Rail works (B) Mine works

(C) Canal works (D) Mine works

281. EDM uses,

(A) Electromagnetic waves to measure distances

(B) Electromagnetic waves to measure bearing

(C) Electromagnetic waves to measure RL

(D) GPS system

282. levelling is done using

(A) Compass (B) Level & staff

(C) Plannimeter (D) Line ranger

283. Line ranger is used for

(A) Ranging (B) Offset measurement

(C) Chaining (D) Levelling

284. Plane table survey makes use of

(A) Drafting table (B) Table with alidade, U fork & trough compass

(C) Theodolite (D) Telescopic staff

285. Orientation in plane table is done by

(A) Back sighting (B) Back sighting or trough compass

(C) Trough compass (D) U fork

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AHE - 101 to 300 - MASTER ] 17 P.T.O.

286. The angle between true north & magnetic north is known as

(A) Vertical angle (B) Horizontal angle

(C) Magnetic declination (D) Dip of needle

287. Difference between RL of two consecutive contours is known as

(A) Contour equivalent (B) Parallel contours

(C) Crossing contour (D) Contour interval

288. In dealing with Plane surveying , curvature of earth is

(A) Considered (B) Not considered

(C) Partially considered (D) Assumed elliptical

289. The very 1st reading taken on a station during levelling is known as

(A) BM (B) BS

(C) IS (D) FS

290. At change point , readings taken are

(A) FS & IS (B) FS & BS

(C) BS & IS (D) FS,  IS & BS

291. To establish bench mark near the site , following method is used

(A) Cross section levelling (B) Profile levelling

(C) Fly levelling (D) Reciprocal levelling

292. Plannimeter is used  for measurement of

(A) Volume of earthwork in field (B) Area of site in field

(C) Area of site in map or plan (D) Volume of earthwork on  map

293. Contour lines cross each other in case of

(A) Valley line (B) Ridge line

(C) Hanging cliff (D) Summit

294. Theodolite is used for measurement of

(A) Area (B) Distance

(C) Angles (D) Volume

295. If a plumb line through an observer is extended upward , imaginary point at which it appears to

intersect celestial  sphere is known as

(A) Nadir (B) Zenith

(C) Grate circle (D) Latitude

296. Sideral time is a scale , based on Earth’s rate of rotation measured relative to

(A) Sun (B) Moon

(C) Fixed star (D) Fixed galaxy

297. GPS has

(A) Satellite segment (B) Ground segment

(C) User segment (D) All of the above

298. Format for GIS  includes

(A) Raster data

(B) Vector data

(C) Digital terrain representation technique

(D) All of the above
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299. When Sun as an energy source is used , it is known as

(A) Active remote sensing (B) Passive remote sensing

(C) Actual Remote sensing (D) GPS

300. In Arial photography, photographs are clicked in such a way that

(A) 50% forward overlap is done

(B) 60% Forward overlap is done

(C) 10 % lateral overlap is done

(D) 60 % forward &  20 % to 40% lateral overlap is done
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